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The Airport Express service has been in full operation for the past three weeks. This train service takes you from the centre of the city to
the airport very (1) ... (RAPID) and at a very reasonable price. The carriages are comfortable and (2) ... (SPACE) but food and drink is (3) ...
(AVAIL) because the journey is short. There is an on-board television service with informaticm-about flights and airport facilities. In (4) ...
(ADD), the train has telephones for passengers to use. Many travellers are already choosing the train in preference to a long and tiring journey
by car or taxi.

Прочитайте текст. От приведенного в скобке (2) слова образуйте ОДНОКОРЕННОЕ слово таким образом, чтобы оно граммати-
чески и лексически соответствовало содержанию текста. Заполните пропуск (2). Помните, что заданную форму слова необходимо
изменить.


